TS FEACST ©FS AT 209

(faTme qiean, 2eafer, aifds @ stigRe W)

SN : © T 4 : woo
QI - VO 7S
% Sara 6% oz wis : SXR0=R0
S| TEFaIoItna 6 SIS 74 2
@ agfe @ fefe
@ 41 3l fewamyet ® &

S T SN ST 7
@ RS Mg =W @ TwIfFS A% 6

@ g Tk @ S CHIFE
© | AN S TfS orzd &ba FE &2
ORI ARLIIIRE @ TG I
@ *rRAsm e ®@ &% Gy
81 “HIORI' — Q2 ATHCS (@I Lad AT 2AACR?
@ W+3=9 @ W+3=9
@ SA+%= @ +%=4
@1 5593 I WIS Yfega 1 —afb @I FiteTg Trrzg?
@ HYIF TSA @ afszxifres T6a
@ Y Tore @ Y S
Y| ‘AT *3d ANLF W (N6 ?
@ Tex @ WG
@ e @ FreIfs
q| ‘o I AR T8 Ifa @I’ —aff @ waa am 2
@ @ioe @ el
@ o @ e

v | o3 B-3I6S *1% FILF 0?2
@ (@ F-36S *1% G NZEAS @R
@ @ B-AHS ¥ 7 QAS (@R
@ @ F-ABF <R (I FFE-6S ¥ (13
@ (T B-ABS 1 BY FEAISOE @R




5| O Glifersd SoAvie S ?

@1l @ fonfo
® vl @
50| (@ NG BF?
@ fafeaer @ fager
@ fafesa ORIEG!
S5 1 ‘TR’ FTNLF 7 @62
@ ofoal @ CArSF
@ oAl @ o
S| G TS 3] FISLE A W2 (T2
@ TF 2GS Y N e
@ i s
@ G CON (PG (o7 7T A
® T Fars ety o
50| (@ J2 IS FAE?
@ (@ AT T4
@ (@ GRTARAN & 2D
@ (T STGPIoO 30T GO
@ @ ACGF A T7 FAE
58| FINA! AT YAV FIVAZ (FI62
@ Tfien @ SICEALNS
@ e 8 B ®@ efooifs
3¢ | @I AT FRAS BTS2
@ &e @ THL! ANZT
@ == @ @NHE T
Su| ‘AN *wfog o Fie
@ g I @ *nf
@ TSR @ Sife*ry
3| ‘TETIA A3 T @2
@ AR P @ TANCHI
@ G QM @ 5 F AN
Sor | ‘TS *tTd ANLS @6 ?
@ ATzl @ LA
@ AATS @ FIYTEND
35 | @G ‘AT *twra FANLS *1% q7?
@ o @ e

ORI @ g



20| LT ATHA FAMG S AB! ARAE ?
@ 3 @ ofp
@ 8fb ® cfs
| FEF ¢ [efe N weai : X =@
F. GER] FE—
2, fotet Coet Z—
91, FIN QIR I =T T W —
g. 911 AIf% (13—
6. e (SleT—
| [ Tea @Eawma Sy e : X = @
3. AT IFE—
2, T Te—
9. FIToH Wt —
q. (N (B —
8. *EHY GGG —
9 | GFFAR B FCA SX@ = @
. W I G—
2, N FAF 22—
9. T ! O JATS I AF—
9. Bl ofd 231 @3l FIAi—
6. T5FE SCSNBCE AN IS —
38| AP NI (=T - 0.GXC = .¢
3. ©IE—
2, e —
5. qgeT—
q. I —
. e far—
3¢ | R W19 e : 0.GXE = 2.&
%, SFH—
4, YBH—
5. SS—
q. (G0 —
6. A —



Q| FILIRI Tt LS A1 o1 Al SX@ = @
. FI0! 910 =4 T=h!

2, e BIHF NG
9. Qe (&6 FNG A
€. ST @M

G, MY GrieTd R

29| AILHACACHE SRS e | ¢

Qb | LM LI A6 SholE ast It &el| ¢

> | AR @A @
AR AT LG A T N B
47 9z A |
I g2 T WA (W
I T Mo |
(M AM g 0 LA 20T (o
Tl 721 A |



English - Y00 %4

1. Use prefix or suffix to change as directed in the brackets: 1x5=5

a. Nutrition (make it negative)—
b. Black (make it verb)—
c. Wisdom (make it adjective)—
d. Strength (make it adjective)—
e. Dark (make it verb)—
2. Fill in the gaps with appropriate preposition: 1x5=5
a. The man begs door to door.

e. Parents should not wink their sons’ faults.

3. Fill in the gaps with appropriate conjunction: 1x5=5

whether, as well as, such, lest, otherwise, if, and.
a. A teacher knows a student reads or not.

b. Ibrahim____his friends has joined the function.
c. Besincere_____ you will repent.
d. Come to visit my home_____ you can.
e.Walk_____ fast_____ you should miss the class.

4. Use the right form of verbs: 1x5=5
a. It was a long time since she (meet) her father.—
b. If I had been a king, I (help) the poor.—

c. Our guests (arrive) just now.—



d. The boys (watch) the television at this moment. —

e. He (leave) the house before we went to bed. —
. Name the parts of speech of the underlined words:

a. Let me go now.—

b. Alas! I am undone. —

c. The patient died after the doctor had come. —
d. The patient will come after an hour.—

e. The woman is quite pretty. —

. Combine each pair of sentences as directed:

. She is very weak. She cannot walk. (Use ‘too...to")

. T had money. I could pay the bill. (Use ‘enough’)
. Be curious. You can learn a lot of things. (Use ‘without’)
. I want to read. Please light the lamp. (Use ‘so that’)

. Eat a balanced diet. You will become healthy. (Use ‘by’)

. Translate into English:

a. 25 A ST 27|

b. SRR IS AFCe18 T FE |
c. \o5al qita gz fom! Faz|

d. 9% 43 I, T2 AI?

e. T¥IBT ArerCs W TG A1 |

. Fill in the blanks with a simple word:

a. A man who mends shoesisa________
b. Thesonofaking _______

c. One who makes furniture

. Change the voices of the following:
a. I have done the work just now.

b. Promise should be kept.

1x5=5

1x5=5

1x5=5

1x5=5

1x5=5



c. Panic seized the young man.
d. Where did you find these books?
e. Do not insult the weak.

10. Correct the following sentences: 1x5=5
a. He is senior than me. —
b. Why you went there?—
c. The boy sank in the river.—
d. Chinese are brave nation—
e. I like coffee more than tea. —

11. Put a word in the gaps from the list matching their meanings. 1x5=5
hard, Close, alone, shine, soon, shout, tired.

a______ = without any other.
b.______ = not far in position.
Com__ = within a short time.
do______ = requires a lot of physical effort.
e______ = in need of rest.
12. Transform the following sentences: 1x5=5

a. He insisted that I should go. (Simple)

b. He is honest in spite of his poverty. (Compound)
c. Such an old thing is of no use. (Interrogative)

d. Work hard and prosper. (Complex)

e. He always speaks the truth. (Negative)

13. Rearrange the following words: 1x5=5
a. thing/little/is/a/learning/dangerous/a

b. flock/of/feather/the/birds/together/same

c. workman/tools/bad/with/a/his/quarrels



d. yard/and/and/housewife/a/is/she/house/her/in/works/she
e. a/got/to/scholarship/study/has/Canada/in/Raiyan

14. Rearrange the following sentences in order to give it a sense: 5

He belonged to a rich family. He gave up his luxurious life and started to
think deeply about Creator and His creations. He wrote a lot of songs.
His songs were popular all over Bangladesh and beyond. Hason Raja was
born in Sylhet.

15. Write about the most exciting match you witnessed in the 2022
FIFA World Cup. 7

16. Imagine, you have been given the ability to become anyone/any-
thing for one year. Who/What would you choose to be and what
would you do? Write at least 100 words. 7



17. Write ten sentences to complete the following: 7

It is easy to understand now that the global warming and climate change
are caused by humans on earth...



18. Write: 5+4=9
a. Why do you want to study in a cadet college?

b. What will you do if you do not get chance in a cadet college?

50
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